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B.Com. (First Year) Examinaﬁoq, 2018

ACCOUNTANCY AND STATISTICS
Paper—1
(Financial Accounting)

Time : Three Hours
Maximum Marks : 100

PART - A (@vg-231) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
Tt 7 STfErd ¥ | T 99 S T e A e A
Tt Tl % i T §
PART - B (@vs-9) [Marks : 50

Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.

WIS THE § UH-Ueh Y99 I70 g6, FoF e 9 Fifw |

Weeh WY T I 250 I § 24fe 7 8
|t 99 F i wEE
PART - C (@ueg-|) [Marks : 30

Answer any fwo questions (300 words each).
All questions carry equal marks.

I BT Y9 HIC | Tedieh T SR 300 WY S T 2
Tt weel F o e F
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1. (i)

(ii)

(iii)

(iv)

(v)

PART - A
(@vs-31)
UNIT - 1
(gTE-1)
On which concept accounting equationis based. State
the equation.
T HeE fR ST W s 82 avie fefed )
State the exception in posting from three column cash
book.
T T Uehs 98t A Tl 1 4TS Sqezd |
UNIT - 11
(gohrE-11)
State three objectives of providing for depreciation.
TeURId WAHHE % A 32 Sacied |
How abnormal loss is treated in éonsignment accounts?
oot @l # STE 1 % e g e
UNIT - III
(F=TE-1I1)
State the formula to determine insurable value under
loss of profit policy.
w1 s eifq aieie § sifga it fafon 1 93 fafed )
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(vi) State any two major differences between receipt and
payment a/c and income and expenditure a/c.
W T T U Sa-oT we A R @y e
AR |
UNIT - IV
(3&TE-1V)
(vii) Define shortworkings.
A TR 1 uftefig wifed
(viii ) What is unrealised profit in departmental accounting ?
it e § 7 a9 gu e’ w7 §2
UNIT -V
(FE-V)
(ix) Give journal entry for following :
Mr. N and Mr. P are equal partners. They admit Mr.
V as partner for ¢ share and for which he brings
15,000 for goodwill. New profit sharing ratio will be
6 : 4 : 2 respectively.
T A SR WEER 1 s et L ow 3 fag
waw <4 € < wfa % o e fed & T 15,000 W
B 1 7 wm-wf ST ®E: 6 : 4 ;2 B S

wfafe G|
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(x) What is rule of Gargen v/s murray ?
TR FAH T 6 e 82

PART - B

(Eve-a)
UNIT - 1
(3hTE-1)
2. (a) Develop an accounting equation taking fire imaginary
transactions.
IS e TR S U SRaT T SR |
(b)  Explain the convention of conservatism.
wfeafean T T i guggy |
OR ( 319ar)
3. Write short notes on any two :
(a) Suspense account
(b)  Rectification, adjustment and closing entries
(¢)  Accounting standards setting process
forll & W wfera feoforal fafed
(31) Su=it @
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(9) YRR TarEisH wE aifay ufafvst
(¥) o1 9 o1 #1 ufhmgr

UNIT - 11

(FehTE-11 )
4. Explain the following in brief :
(a) Causes and objectives of depreciation
(b)  Self balancing ledgers
= = 98y o g -
(31) HeIgH % HR U5 38eq
() ==17 ggfea am afear
OR ( 31gEm)

5. Aditya of Ajmer sent a consignment of goods to Bhushan of
Bhilwara on the basis that Bhushan was to effect sales on
behalf of Aditya and to receive a commission of 20% on selling
price. Bhushan will be responsible for all indirect expenses at
his end, but the goods were to be forwarded FO.R. Bhilwara.
The commission was considered to include delcredre

commission also.
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Aditya sent the goods costing ¥ 25,000 at an invoice price of
T 30000. He spent T 400 on packing and loading, On receiving
the goods, Bhushan accepted Aditya's draft for ¥ 15000 and
paid the following expenses :

Freight ¥ 1,800; godown rent 500; insurance godown 200; Mis.

exps. 200.

5
Give necessary ledger accounts in books of Aditya and

4 ’
He sold — of goods for T 38,000 and could not realised T600.

Bhushan.

IO % aNfeed A offerarst 3 Eur i YN TR A 39 I W
¥ foF oo enfes & AW W A S= a G e W
20% HHNE YIE HOT | U0 39 5 A T g Sues
=l & W ggd HEN W 39 viware) 9@ 9 S g9
BT WS SR e H 2@ el e off wiha wwen
Eiul

amfee 3 25,000 T @FA eF I HIE 30,000 T % Wik 4
W 9= | 3R 400 T A qon v W = fEw) guor ¥ we
T H T e F1 15000 ¥ fafrm w3 =i fm aun
=1 =l 1 A foRe
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I TS 1800, TierH TR 500, T Tiem 200 qe fafay =5a
200

T -;1 A1 38,000 ¥ H &= 9w § 600 T gl TE B W

AT T YU KT YEIH AT @Y S|
. UNIT - 11
(FhT$-111)

6. Explain the steps to determine claim under loss of profit
policy.

@ w1 s st atet § 26 @ i 99 w50 w5 ogfEw @
TR |
OR ( 37T )

7. Alwar transport Ltd. purchased three trucks @ 8,00,000 each
on hire purchase system from Jodhpur motors Ltd. Down
payment of ¥ 6,00,000 was made. Balance was payable in
three equal annual instalments with 15% interest. Alwar
transport write off depreciation @ 20% on WDV basis.
Purchaser duly paid the first repossessed all trucks and after
spending X 1,16,000 on repair these were sold for ¥ 15.00,000.

Give necessary accounts in books of botht he parties:
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SreTer 2w fer. 3 a1 2 8,00,000 T 9fd 2o &l & | SEH
g far. @ frm w9 W &3 ) 6,00,000 T T YA
foran o | 99 go T TEE ot R § 15% =S % 9y
THH T | AR THARE TR W HEd § Y9 W 20 Yedad
yoferfad Fdt € | ShaT 3 WM foRe 1 s TR i we
fepdi 1 g =T feman < w1 foseen = wegl 2t 1 gifed
o foran & T T W 1,16,000 T 2 i F @5 3% 15,000 T
o o fean | ST verRRl Tl | STevEE @ Sifag |

UNIT - IV

(THE-1IV )

8. What are indirect expenses in departmental accounting.
Explain basis of their apportionment.
faunitg oraiFa # STy =g #41 §7 39 AUISH & SAER
T8 WY |
OR ( 379er)
9. On 1.1.2010 Ram obtained a lease of land from Laxman
bearing coal on the terms that a royalty is payable @ 20 per

tonne of output and minimum rent is 10,000 p.a. with a right
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to recoup shortworkings over first four years of lease. From
the following further details prepare royalty a/c, shortworking
a/c and Laxman a/c in boks of Ram.

1.1.2010 1 TH 3 @&HY ¥ HFe FH TH 37 G W 9 WA
far eifemR Yo 20 T WA Scafed 27 #1 WA 3§, FAaH
fergran 10,000 A Ten e TMA 1 TF % WeH =R au 5
e F0 = srfeer ¥ 1 e fael & T ) g § e
q.ﬁﬁfq_

AfUeRT Yoo G, THETE U W 4] T S

Year Sales in terms Closing Stock in tonnes
2010 230 20
2011 340 50
2012 420 80
2013 640 40
2014 700 60
UNIT -V
(FFE-V)

10. Write short notes on followings :

(a) Treatment of goodwill on admission of a partner
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(b) Rule of Garner v/s Murray
e W i femforal fafag -
(1) TERER % WY W S A e
(&) TR W A
OR ( 3terar)
11. A, B and C are partners sharing profits in2:2: 1. The B/S
of firm on 1.4.2013 was as under :

5,9, 92 12 : 1% I § I died gY HEEH ¥ 1142013

=) o g = weR o
Liabilities Amount | Assets Amount
Creditors 65,000 |Cash at Bank 10,000
General reserve 15,000 | Debtors 70,000
Capital a/c's : ) Stock 40,000
A 40,000 Building 50,000
B 30,000
C 20.000 90,000
| 170,000 1,70,000

'C! retires from firm on 1.5.2013 and it was decided as under:
(i)  To reduce stock by 10%
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(i)  To increase building by 50%

(i) To provide for doubtful debts at 5%

(iv) To value goodwill of firm at 20,000 and adjust share of
'C" in capital a/c of 'A’ and 'B' who decided to share
future profits equally.

(v) Share of 'C' for current year period agreed at 2500.

(vi)  To pay 'C', a bank loan was arranged for ¥ 25,000 on
1.5.2013.

(vii) The amount payable to 'C' was fully paid on 1.5.2013.

Prepare revaluation a/c and capital accounts of partners.

152013 ¥ ‘W' %H | M U0 F41 € | 39 57 o= Fofg

o ™

() = F g 10% F FH B T

(i) 9 1 T 50% A S S |

(i) ERI W 5% @t @ ¥ Wiy wmON & few smEeE s=mE
Bl

(iv) W &Y @fd 20,000 T R Yeoifera &1 SC AR 398 ‘9’
F e = o' ol ‘e’ F st mw # werEife W fern
S, st wfee | @y we wf SR ated o e w
gl
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(v) = ad & fag ‘e’ @ ey @ fEen 2500 ¥ TER 9
fopam )

i) ‘®' ® gwE F faw 1.52013 F 25,000 T F dF HO
FI e H T |

' (vii) ‘&' = <3 T 1 quf YT 1.5.2013 1 R fEE T

12.

13.

e a T W & g5 E SR ‘

PART - C

(QCLESD)

UNIT - I

(F=TE-1)
Is agreement of trial balance is a conclusive proof of accuracy
of books ? If not, why it is 50, explain. »
7 T F THE Sl TEh] i ST [Sa H WA @2
afg =, @ i g |

UNIT - I

(ZrE-11)

Bachan and Charan enter into a joint venture to develop a
film for government. The government agrees to pay I
1,00,000. Bachan contributes ¥ 10,000 and Charan contributes

Z 15,000. These amounts are paid into a joint bank a/c

payments made out of joint bank a/c were :
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T T 9 WEHR & fau u fhen 999 39 9w wey o
3T & | WR T 1,00,000 T 31 99 fFET) =1 3 10,000 2
YT 99 4 15,000 T &Y | 39 WY F GYw A% @@ o =@
Tean a1 Sy A% @r ¥ Fre o R T

Purchase of Equipments 6,000
Wages 45,000
Materials _ 10,000
Hire of equipments 5,000
Office expenses 5,000

Bachan paid ¥ 2,000 as licensing fees. On completion, the
film was found defective and government made deduction of
< 10,000. The equipments was taken over by Charan at a
valuation of ¥ 2000. Separate were maintained for joint
venture, whose profits were divided in the ratio of Bachan 2/5
and Charan 3/5. Give necessary ledger accounts.

I A 2000 T TRHE W % g HE gl 89 W) e
oYYl U T U TR ¥ 10,000 T HI Tl i | gFATEE
1 =01 7 2,000 T F eI W o | Y WeY ¥ oo T
Tl T a9 e B 2/5 (W) T 3/5 (FH) F o # s
1 | HEEF Gl TG |
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UNIT - III
(F®TE-110 )

14. From the information given below determine, the claim under

consequential loss policy :

et eall & aftome wfy < et 3 sa @ of

Freifta =ifs

Indemnity period A 6 months
Date of fire 31.5.2014
Dislocation upto 30.9.2014
Sum insured < 70,000
Sales for last accounting year } 240,000
Net profit for last accounting year 20,000
Standing charges all insured 40,000
Sales for dislocation period 30,000
Sales for 12 months immediately 3,30,000

preceeding date of fire
Sales for corresponding period in the

preceeding year (31.5.2013 to 30.9.2013) 1,10,000
1802/9900 14




15.

The policy contains special circumstances clause, which
stipulates for increase in turnover (Standard and annual) by

10% for an upward trend in the sales.
ieftet F fafe afiftafoal aein @ s 59 9@ & yoe F@
? & fafis =t (wwifem wd @nfis ) 10% =+ 9fs =5ewm
¥ agdt g3 wafa F FRT FE T

UNIT - IV

(FE-1V)
Write notes on followings :
(a) Stock and debtors method in branch accounting
(b) Shortworkings and its recoupment treatment |
fr W feorftrt fafed -
(37) wIrEr d@ihA @ Wis U9 oer fafy
(3) @ Uil uE et ael W e

UNIT - V

(F=13-V)

. X, Y and Z are partners sharing profits and losses in the ratio

of 5:3:20n31.3.2015 their B/S was as follows :

(79, 975 T SIS WRER & W 5 : 3 : 2 % 9 A @
e F £13132015 9 S g W UER ) ¢
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4 4
Capital Accounts : Cash in hand 1,000
X 7,500 [Sundry assets 31,000
X 6,000
Z 1500
X's loan a/c 5,000
Y's loan a/c ' 2,000
Sundry creditors - 8,000
Bank Loan 2,000
32,000 32,000
The firm was dissolved on 1.4.2015. The assets were realised
as follows :
1.4.2015 H1 wH =1 A € T FH w1 owAfed ¥ wfE
= weR EE‘ :
< 4
April 30 6,250 Expenses 250
May 31 5,500 Expenses 400
June 30 12,500 Expenses 750
July 31 4,500 Expenses 250

Cash received was paid to the rightful claimants. Prepare a
statement showing distribution of cash applying Garner v/s
Murray rule (Maximum loss method).
T TEER F THT T gEE W i e & fawor e
@ﬁwmmmﬁiaﬂmtﬁﬁmmmaﬁﬁm
(stferaram =i fafi)
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